Calculus Section 10.5 Polar Equations and Area Day Il

The area bounded by the polar curve r = f(8) between 8=« and 8= is given by the formula:

y =-;—Ifr2d9,

Ex. Find the area for the inner loop of the graph r=1+2sin8
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Inner circle is dmbk-Counkd

Ex. Find the area of the graph r= 1+2$1n9 ‘C
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Ex. Find the area between the two loops for the graph- r=1+2sin@

v

A-3 S(l+25in6)ad6 AL %%(H’;lsm@)idé
0

G




Ex. Find the area inside r =3sin# and outside r=2-siné.
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Ex. Find the area of the common interior of r=3cos# and r=1+cosé.
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